OIObQI

O solutions. Tzor

Opal NIXD'D [I1'D1 NDUDN NIRIIN

XO'DN N2 D A

LIND'DN DY Q1YW XD NNR IWKRD) NOD DD N YU NOp xNH =
NO'DN N2 NR DINY D

L(ND'DN DV QW NNX TWRD) NOND YD DTN YV NOp YNH =
NO'DN N2 NX TN NID Yy

111122'00N 112200 I .2

NXNWY NIND HYL(RDDN DY W NNAR TWUNRD) NHUD DD N NX DN e
J21122'0N (1221010

LN21WUN 21D NXODIND N2'W AT 410° YW NPT 220 NIVWD NN INY =
22N NIVYUD NIITNR VIPY NID HY,N0D 'Y DT NXR TN

,ROIN NMIT NN 1V1Y XD XODID L(AX12 NUWH HUN) XD'DD N1'0I0IN N2'WD
XDRD XYY NO'D2 NDYINDD N2'YW IWOXRDI DTN NN DIDYW 'DXIT INDI INYNII

QU YPYWNY (122100 NITAINN NDNIV (111D .3

NIDDIDND 0D DY,XDDN 21N NNXR IWKD 112N NR 11D XODID *
(X0DN YV W RN

NITANNN NDNIY NR UHNNY NID SV, (IVUN 1D DY) 1120 NN 2210 *

JITNNN NDXIY AR PTNY NID SV (IVYUN I TA1) 112N NN 2210 *

J'W2 WINYD D21INW NIN HY,DNINDND TNXRD 0'212'0 ‘0N 112N NN 2210 vt e

NIND 121ND2'0N 122100 TWND ,R0'DN DY N2AWITUTND W20 11D INRD =
DX WIN9 NN YV ,R0DD TIITI NVIIN UNIDIL(NVIIND DIV XD X0O'DN)
TITIN NDNIY

JINIX PITND RO'DN N2W ITRN NTIPI NRIND TY,N21UDN HY TND v
XDRNND QN0NIY 1HDID

DTN NRYYD N2 I 4

NOUD DY) T AR YWD, NTN TN [NNON YV vnd =

N D'UDINDY 0'25WH DRNN2 DTN NNVYUD N NX (D"
AN1WH NNNAD ' DTN NRYYUDY XIDID)

(Opal HM X0'22) N3D NI'DIIIN DY T NIIVYWD (111D .5
NOUD DY) T AR WD, NTN TND [NNYN YU YnH -
N D'YDINY 0'25WH DRNN2 DTN NIRVYUD N NX (D"
(NS5 NNAD 'Y DT NIVYWUDY XODIN)
JNOIUND RO'DN PNID NXR VIPY NID YU ,MINK 7/ ND' TP DTN NNVYUD NXR (TN =
D 0N NIVUDN DT AR VIRPY NID HY,NORDY / NI'D' DY TN NNVUD NR TN e

&< »up

BIFMA

TIDNI NPT (DDA




